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1.Assume that the normal random variables X7, X, ..., X, of mean u and
variance o2 are uncorrelated. If S, = 237, X;, find E[S,], Var(Sh).
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2.1f X1,X2, ..., Xpn are independent normal random variables with parameter
i, o2 (X ~ N(,u,, 2)), if Y =327, X;, then Y is still a normal random
varlable with parameters (37_; uj, 201 02).
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3.A random variable S is log-normal if
InS ~ N(p, %)

(a)Find the probability density function of S.

(b)If S(t) has log-normal distribution with drift r and volatility o. Find

E[2Er0], E[(2LEM) )2,
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